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PARABOLA

1. Find the axis, coordinates of vertex and

focus, length of latus rectum and the equation


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MXrm09akNuHp

of directrix for the following parabola :

y? = 18z

° Watch Video Solution

2. Find the axis, coordinates of vertex and
focus, length of latus rectum and the equation

of directrix for the following parabola :

3z = — 8y

o Watch Video Solution



https://dl.doubtnut.com/l/_MXrm09akNuHp
https://dl.doubtnut.com/l/_e9n9qCsUPP3e

3. Find the axis, coordinates of vertex and
focurs, length of latus rectum and the

equation of directrix of the following parabola

v+ 4z 4+ 2y — 11 =0

o Watch Video Solution

4. Find the axis, coordinates of vertex and

focus, length of latus rectum and the equation


https://dl.doubtnut.com/l/_REQLOWxlr82G
https://dl.doubtnut.com/l/_c5jgKEDvaOGb

of directrix for the following parabola :

y = lz? + mz + n(l # 0)

° Watch Video Solution

5.If t be a variable parameter, find the vartex,
axis, focus and length of the latus rectum of

the parabola whose parametric equations are,

1
r =ucosa-t,y=usina -t — Egt2.

o Watch Video Solution



https://dl.doubtnut.com/l/_c5jgKEDvaOGb
https://dl.doubtnut.com/l/_8uuUarznr0Kb

6. The parabola y? = 2az passes through the
centre of the circle
Az +4y? —8x +12y—7=0 . Find the
focus the length of the latus rectum and the

equation of the directrix of this parabola .

o Watch Video Solution

7. Find the point on the parabola y* = 12z at

which the ordinate is double than abscissa.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rdj4nMuereV3
https://dl.doubtnut.com/l/_J7mNGJnMcamj

8. Ifa+ b +# 0, find the coordinates of focus
and the length of latus rectum of the parabola

y* = 2max which passes through the point of

intersection of the straight lines d + % =1
a
and = + J_ 1.
b a

o Watch Video Solution

9. Find the focal distance of a point on the
parabola z? = 8y if the ordinate of the point

be 11.


https://dl.doubtnut.com/l/_J7mNGJnMcamj
https://dl.doubtnut.com/l/_Cw5C5AuWji7U
https://dl.doubtnut.com/l/_z76MkjPJnpzw

° Watch Video Solution

10. Find the equation of the parabola whose
coordinates of vertex and focus are ( — 2, 3)

and (1, 3) respectively .

° Watch Video Solution

11. The length of latus rectum of a parabola is
18 unit . Let p be a point on the parabola

whose distance from its axis is 15 unit . Find


https://dl.doubtnut.com/l/_z76MkjPJnpzw
https://dl.doubtnut.com/l/_honJgaKDY6QA
https://dl.doubtnut.com/l/_EX8ZwizGNdpD

the distance of p form the focus of the

parabola.

° Watch Video Solution

12. The coordinates of one end of a focal chord
of the parabola y? = 4ax are (at2, 2at)

prove that the coordinates of the other end
2a
must be i, — — .
t2 t

o Watch Video Solution



https://dl.doubtnut.com/l/_EX8ZwizGNdpD
https://dl.doubtnut.com/l/_rc5qrKNyNZW6

13. Find the equation of the parabola whose
focus is (3, 4) and whose directrix is 3x + 4y +
25 =0. Also find the length of latus rectum of

he parabola.

o Watch Video Solution

14. A double ordinate of the parabola
y2 = 4ax is of length 8a . Prove that the lines

joining the vertex to its two ends are at right

angles .

| & I


https://dl.doubtnut.com/l/_A7QGrSKvIAX1
https://dl.doubtnut.com/l/_SVORBckpJ69s

| ¥ Watch Video Solution |

15. The focal distance of a point on the

parabola y*> = 12z is 6 , find the corrdinates

of the point.

o Watch Video Solution

16. Find the two points on the parabola

z? = 8y each of which is at a distance 4 unit

from the focus. Find also the equation of the


https://dl.doubtnut.com/l/_SVORBckpJ69s
https://dl.doubtnut.com/l/_IOP0MrDd5kUv
https://dl.doubtnut.com/l/_NyA0iW0Zuqdo

circle whose diameter is the line segment

joining these two points .

° Watch Video Solution

17. Find the equation of the parabola passing
through the points (3,0), (-3,0) , (2,5) and
having its axis parallel to the y - axis find the

coordinates of its vertex .

o Watch Video Solution



https://dl.doubtnut.com/l/_NyA0iW0Zuqdo
https://dl.doubtnut.com/l/_tlT4Ie3HYhyJ

18. The coordinates of the two ends of latus
rectum of a parabola are (3,4) and (3,0) ,find

the equation of the parabola.

o Watch Video Solution

19. Find the equation of the parabola whose

vertex is ( — 1, 3) and focus is (3,-1) .

° Watch Video Solution



https://dl.doubtnut.com/l/_zjpx2skvVlMj
https://dl.doubtnut.com/l/_7QwYCUUXkyXG

20. Find the equation of the parabola whose
coordinates of vertex are (-2,3) and the

equation of the directrixis 2z + 3y +8 =0

o Watch Video Solution

21. A focal chord SE of the parabola y* = 8z
passes through the end point, having positive
coordinates, of another chord EF':x =4 .

Find the equation and the length of the chord

| & I


https://dl.doubtnut.com/l/_KJOZ2bt9mSwn
https://dl.doubtnut.com/l/_VjZ1mY4R4hOP

| ¥ Watch Video Solution |

22.If a straight line passing through the focus
of the parabola y? = 4az intersectts the
parabola at the points (x1, y1) and (z2, y5) ,

then prove that ;25 = a’.

o Watch Video Solution

23. Examine with reasons the validity of the

following statement : "The point (4,3) lies


https://dl.doubtnut.com/l/_VjZ1mY4R4hOP
https://dl.doubtnut.com/l/_V39SozbZaKHA
https://dl.doubtnut.com/l/_VFZFGVo3LUpH

outside the parabola y? = 4z but the point

( —4, — 3) lies within it "

° Watch Video Solution

24.1f [ and [’be the lengths of the segment

PS and P’S of a focal chord PP’ of the

parabola y? =4axz , then show that
1 N 1 1
[ ' a’

o Watch Video Solution



https://dl.doubtnut.com/l/_VFZFGVo3LUpH
https://dl.doubtnut.com/l/_vBLNSIkbYMUl

25. Show that the equation of the chord of the
parabola z* = 4ay joining the points (z1, 1)
ann (22, y2) on it is

(z — z1)(z — 29) = z° — 4ay.

° Watch Video Solution

26. Show that the locus of the middle points of
chords of the parabola y? = 4azx passing

through the vertex is the parabola y* = 2ax .

° Watch Video Solution



https://dl.doubtnut.com/l/_KFNe2XHGgILW
https://dl.doubtnut.com/l/_LX2bR3zTiPRf

27. Prove that the least focal chord of a

parabola is the latus rectum .

o Watch Video Solution

28. Find the latus rectum of the parabola

3y° = bz

o Watch Video Solution



https://dl.doubtnut.com/l/_LX2bR3zTiPRf
https://dl.doubtnut.com/l/_akIeYtHfEmUV
https://dl.doubtnut.com/l/_n6ara1pLRFU0

29. A chord PQ of the parabola y? = daz
subtends a right angle at the vertex , show
that the mid point of PQ lies on the parabola,

y* = 2a(x — 4a) .

° Watch Video Solution

1. The length of latus rectum of the parabola

3z = — 8yis _


https://dl.doubtnut.com/l/_YbivztBFbrLj
https://dl.doubtnut.com/l/_d244QeDLrvJ6

Answer: B

o Watch Video Solution

2. The coordinates of focus of the parabola

y* = — bz are


https://dl.doubtnut.com/l/_d244QeDLrvJ6
https://dl.doubtnut.com/l/_6Fw3fTvCTDBV
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Answer: A

° Watch Video Solution

3. The parametric equations of the parabola

Y’ = 12z are _


https://dl.doubtnut.com/l/_6Fw3fTvCTDBV
https://dl.doubtnut.com/l/_bwS1xGNHip5g

Az =6t y=3t
B.x :3t2,y:6t
Cx :t2,y:6t

D.a:=3t2,y=t

Answer: B

° Watch Video Solution

4. The equation of directrix of the parabola

4z° = 3yis _


https://dl.doubtnut.com/l/_bwS1xGNHip5g
https://dl.doubtnut.com/l/_G6ZUq9i7wCi8

A.16y + 3 =0

B.16y-3=0

C.8y+3=0

D.8y-3=0

Answer: A

o Watch Video Solution

5. The axis of the parabola

(y+1)® = — 4(z — 3) is parallel to_


https://dl.doubtnut.com/l/_G6ZUq9i7wCi8
https://dl.doubtnut.com/l/_HRqKODnrG1La

A. positive x - axis

B. positive y - axis

C. negative x - axis

D. negative y - axis

Answer: C

o Watch Video Solution

6. The coordinates of the vertex of the

parabola (z 4+ 1)* = — 9(y + 2) are


https://dl.doubtnut.com/l/_HRqKODnrG1La
https://dl.doubtnut.com/l/_joJ6BbLBhbVF

A.(1,2)

Answer: D

o Watch Video Solution

7. The equation of directrix of the parabola

3y’ = —4dxis


https://dl.doubtnut.com/l/_joJ6BbLBhbVF
https://dl.doubtnut.com/l/_Si6VPLEUYSda

A3x+1=0

B.3x+2=0

C.3x-1=0

D.3x-2=0

Answer: C

o Watch Video Solution

8. The axis of the parabola

(x —1)* = 5(y + 2) is parallel to


https://dl.doubtnut.com/l/_Si6VPLEUYSda
https://dl.doubtnut.com/l/_IDemZGBp78tv

A. positive x - axis

B. positive y - axis

C. negative x - axis

D. negative y - axis

Answer: B

o Watch Video Solution

9. The coordinate of focus of the parabola

> _ _ab are
_a—l—by _



https://dl.doubtnut.com/l/_IDemZGBp78tv
https://dl.doubtnut.com/l/_eKewZnIVtdh9

Answer: C

o Watch Video Solution

10. The length of latus rectum of the parabola

(y—1)° = —6(z +2)is


https://dl.doubtnut.com/l/_eKewZnIVtdh9
https://dl.doubtnut.com/l/_V66rryrosX5I

A. 2 units

B. 3 units

C. 5 units

D. 6 units

Answer: D

o Watch Video Solution

11. The equation of the parabola of which the
focus is at the point (—3,0) and the

directricx is the linex =3 is _


https://dl.doubtnut.com/l/_V66rryrosX5I
https://dl.doubtnut.com/l/_aJzG2T8QCzLb

Ay’ =12z

B.z? = 12y

Cy’ = — 12z

D.z? = — 12y
Answer: C

o Watch Video Solution

12. The coordinates of one of the end-points of
the latus rectum of the parabola

(y — 1)° = 2(z + 2) are


https://dl.doubtnut.com/l/_aJzG2T8QCzLb
https://dl.doubtnut.com/l/_D8kR20PVQdbh

A(—2,1)

(2
(29
(29

Answer: D

° Watch Video Solution

13. The coordinates of the focus of the

parabola 2z? = — byare


https://dl.doubtnut.com/l/_D8kR20PVQdbh
https://dl.doubtnut.com/l/_eMkFB8bH40Io

~(-59)
(-39
o9
-3

Answer: D

° Watch Video Solution

14. The equation of directrix of the parabola

3y’ = —4dxis


https://dl.doubtnut.com/l/_eMkFB8bH40Io
https://dl.doubtnut.com/l/_mkjzItqjy345

A.3y-1=0

B.3x-1=0

C.3y+1=0

D.3x+1=0

Answer: B

o Watch Video Solution

15. The coordinates of the focus of the

parabola 3y* = 8z are _


https://dl.doubtnut.com/l/_mkjzItqjy345
https://dl.doubtnut.com/l/_QGxtRvtAMgEn
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Answer: A

° Watch Video Solution

16. The equation of the directrix of parabola

2x° = 3yis _


https://dl.doubtnut.com/l/_QGxtRvtAMgEn
https://dl.doubtnut.com/l/_rUSBZ8lABRrW

A 8x+3=0

B.8x-3=0

C.8y+3=0

D.8y-3=0

Answer: C

° Watch Video Solution

Very Short Answer Type Qusetions


https://dl.doubtnut.com/l/_rUSBZ8lABRrW

1. Find the focus, the length of the latus

reccum and the directrix of the parabola

3z = 8y

o Watch Video Solution

2. Find the length of the latus rectum of the

parabolay = — 2z° + 12z — 17.

o Watch Video Solution



https://dl.doubtnut.com/l/_FK0RTsQ5zqIM
https://dl.doubtnut.com/l/_RuIDepwL2WJQ

3. Find the eqution of the parabola whose

coordinates of vertex and focus are (0, 0) and

3
<§, O) respectively .

° Watch Video Solution

4.The vertex of a parabola is at the origin and

5
its focus is (0, — Z) , find the equation of

the parabola.

° Watch Video Solution



https://dl.doubtnut.com/l/_JUHhdsn1oqeX
https://dl.doubtnut.com/l/_jlcCWmjgadCR
https://dl.doubtnut.com/l/_bILudOiVYDqx

5. The parabola z* 4+ 2py = 0 passes through
the point (4,-2) , find the coordinates of focus

and the length of latus rectum .

° Watch Video Solution

6. The parabola y? = 2az gose through the

point of intersection of 24—2 =1 and

3 2

% + % = 1.Find its focus .

° Watch Video Solution



https://dl.doubtnut.com/l/_bILudOiVYDqx
https://dl.doubtnut.com/l/_sW7karcYUYJk
https://dl.doubtnut.com/l/_zavRvCeoh4MC

7. A parabola having vertex at the origin and
axis along x-axis passes through (6,-20 ) , find

the equation of the parabola.

° Watch Video Solution

8. The axis of a parabola is along y-axis and
vertex is (0,0) . If it passes through (-3,2) , find

the coordinates of its focus .

° Watch Video Solution



https://dl.doubtnut.com/l/_zavRvCeoh4MC
https://dl.doubtnut.com/l/_283O2iIPrNno

9. Find the equation of the parabola whose

vertex is (0,0) and directrix is the linex+3=0.

° Watch Video Solution

10. Find the equation of the parabola whose
vertex is at the origin and directrix is the line y

-4=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ywj9L7DoxpQt
https://dl.doubtnut.com/l/_r9E40N12Sf1q

11. If the parabola y? = 4ax passes through
the point of intersection of the straight lines
3x +y+5=0and x+3y-1=0, find the
coordinates of its focus and the length of its

latus rectum.

o Watch Video Solution

12. The parabola y* = 4ax passes through the
centre of the circle

222 + 2% +4z — 12y —4 =0 Find the


https://dl.doubtnut.com/l/_MJzSFIpxbg6S
https://dl.doubtnut.com/l/_xAAr1Sl6kNiH

coordinates of the focus , length of the latus

rectum and equation of the derectrix

° Watch Video Solution

13. If the parabola y? = 4az passes through
the centre of the circle
2’ +y? +4z — 12y —4 =0 what is the

length of the latus rectum of the parabola ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xAAr1Sl6kNiH
https://dl.doubtnut.com/l/_o0rUhJPwg9z2

14. Find the point on parabola y* = — 20z at

which the ordinate is double the abscissa .

° Watch Video Solution

15. Find the point on the parabola

y2 — — 36x at which the ordinate is three

times the abscissa .

° Watch Video Solution



https://dl.doubtnut.com/l/_Ym6dk9l9vVqa
https://dl.doubtnut.com/l/_tYuUrxTX6frA

16. Find the point on the parabola
y* = 4ax(a > 0) which forms a triangle of
area 3a® with the vertex and focus of the

parabola.

° Watch Video Solution

17. What type of conic is the locus of the
moving point (a,t2, 2at) ? Find the equation of

the locus .

° Watch Video Solution



https://dl.doubtnut.com/l/_lKiH5mIARlj8
https://dl.doubtnut.com/l/_6L2ER8j8N7Vo

18. The focal distance of a point on the
parabola y? = 8z is 4, find the coordinates of

the point.

° Watch Video Solution

19. Find the focal distance of a point on the
parabola y* = 20z if the abscissa of the point

be 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_6L2ER8j8N7Vo
https://dl.doubtnut.com/l/_HO8OT3LKe3ZK
https://dl.doubtnut.com/l/_9uXK9BLvbCFC

20. Determine the positions of the points (a)
(3,6) ,(b) (4,3) and (c) (1,-3) with respect to the

parabola y* = 9z .

o Watch Video Solution

21. For what values of a will the point (8, 4) be

an inside point of the parabola y* = 4az ?

o Watch Video Solution

Short Answer Tupe Questions


https://dl.doubtnut.com/l/_oOU5xYsj00qH
https://dl.doubtnut.com/l/_PTu37yzw6Zhp

1. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of
directrix and the coordinates of the ends of

latus rectum of the following parabola :

y? = 20z

o Watch Video Solution

Long Answer Type Questions


https://dl.doubtnut.com/l/_xbt6QaQFNxz9

1. Find the equation of the parabola whose
vertex is (2,3) and the equation of latus rectum
is x = 4 . Find the coordinates of the point of
intersection of this parabola with its latus

rectum .

o Watch Video Solution

Sample Questions For Competitive Exams A M C

Q



https://dl.doubtnut.com/l/_WSNSYuXXT2Il

1. The focus and directrix of the parabola

92 — 24zy + 16y* — 20z — 15y — 60 = 0 s

A 43 129
' 25’ 100
5 43 129
' 257 100
C.16x+12y+53=0

D.16x + 12y -53=0

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_KzG4Bjr773WN

2. let y® =4ax be a parabola and
z? + y® 4+ 2bz = 0 be a circle . If the parabola
and the circle touch each other externally ,
then _

Aa>0,b>0

B.a >0,b>0

Ca<0,6>0

D.a <0,b<0

Answer: A::D

l o Watch Video Solution


https://dl.doubtnut.com/l/_VkF3pKBDRR1O

3. If the points of intersection of the parabola

v? = dax and the circle

z? + y? + 29z + 2fy + ¢ = O are

(21, ¥1), (22, ¥2), (23, y3)and (24, v4)

respectively, then _

Ay +y +ys+ys =20
B.\/a_:1+\/§2—|—\/53+\/§4:0
Cyr— % tys—ys =0

D.y1 —y2 —ys+ya =0


https://dl.doubtnut.com/l/_VkF3pKBDRR1O
https://dl.doubtnut.com/l/_BZycnsr4HevU

Answer: A::B

o Watch Video Solution

4. Ay’ + By + Cz + D = 0 be the equation

of a parabola, then _

T
A

B
C.they - coordinate of the vertex is — —-

2A

A. the length of the latus rectum is

B. the axis of the parabola is vertical


https://dl.doubtnut.com/l/_BZycnsr4HevU
https://dl.doubtnut.com/l/_25lcUlHzqEY6

D.the x - coordinate of the verte is

D, B
A 4AC

Answer: A::C

° Watch Video Solution

5. If equation of directrix of the parabola

? +4y — 6z +k=0isy+1=0,then

o Watch Video Solution



https://dl.doubtnut.com/l/_25lcUlHzqEY6
https://dl.doubtnut.com/l/_94bmBMvnvKVI

Sample Questions For Competitive Exams B

Integer Answer Type

1. S is focus of parabola y* = 8z and AB is

common chord of y? =4az and circle

z? 4+ y? — 2z — 4y = 0 the area of APQS is

o Watch Video Solution

2. x - 1 =0 is the equation of directrix of the

parabola y*> — kz + 8 = 0 . Then the value of


https://dl.doubtnut.com/l/_AeCfKWbvP3VR
https://dl.doubtnut.com/l/_s9Teh4jCljpu

kis

|

B.8

>~ =

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_s9Teh4jCljpu

3.Ifx = T be the equation of directrix of the

parabola y* + 4y + 4z + 2 = 0 then Jkis

° Watch Video Solution

4. f Xz’ +dzy+y* +FAz+3y+2=0
represents the equation of the parabola, then

the vlaue of A is _

° Watch Video Solution



https://dl.doubtnut.com/l/_cGvwAyrhh91k
https://dl.doubtnut.com/l/_r5B54sIfKH3L

5. Find the latus rectum of the parabola

22% 4+ 3y = 0

o Watch Video Solution

Sample Questions For Competitive Exams C

Matrix Match Type

1. Find the latus rectum of the parabola

(y—3)" = 6(z — 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_SHMGA8DkR6Q8
https://dl.doubtnut.com/l/_49vLbJ0GMV6w

2. Find the focus of the parabola

(y—3)° = 6(z - 2)

o Watch Video Solution

Sample Questions For Competitive Exams D

Comprehension Type

1. Find the focus of the parabola

2’ —4r —5y—1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_WVlfc4xThTV1
https://dl.doubtnut.com/l/_7NIZHSksa2nT

2. Find the latus rectum of the parabola

v + 4z + 2y = 11

o Watch Video Solution

3. Find the focus of the parabola

(—3)°+8y+1) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_sjEcrMMLVktG
https://dl.doubtnut.com/l/_02vq2b7YAymC

4. If the locus of the circumcentre of variable
triangle having sides x=0,y=2and Ix + my =1
where (I , m) lies on the Parabola y2 — 4ax is a
curve 'C' then

Coorrdinates of the vertex of this curve 'C'is _

a-22
. ' 5
3

Answer: A


https://dl.doubtnut.com/l/_2eRKeBDtjHO7

° Watch Video Solution

5. If the locus of the circumcentre of variable
triangle having sides x=0,y=2and Ix + my =1
where (I , m) lies on the Parabola y2 — 4ax is a
curve 'C' then

The length of smallest focal chord of this

curve 'C'is _

1
A.Z

1
B.E

1
C.g


https://dl.doubtnut.com/l/_2eRKeBDtjHO7
https://dl.doubtnut.com/l/_e24kiIx2MPxn

Answer: C

° Watch Video Solution

6. If the locus of the circumcentre of variable
triangle having sides x=0,y=2and Ix + my =1
where (I , m) lies on the Parabola y2 — 4azx is a
curve 'C' then

The curve 'C' is symmetric about the line _


https://dl.doubtnut.com/l/_e24kiIx2MPxn
https://dl.doubtnut.com/l/_EEgsjSMCCAsp

B 4 — 3
LY = 5
C o — 3
LT = 5
Dy — 3
LY = 5
Answer: D
o Watch Video Solution

Sample Questions For Competitive Exams E

Assertion Reason Type



https://dl.doubtnut.com/l/_EEgsjSMCCAsp

1. Find the latus rectum of the parabola

r =2y —4y+5

o Watch Video Solution

2. Statemet - | : Number of focal chords of
length 6 units that can be drawn on the
parabola y* — 2y — 8z + 17 = 0 is zero

Statement - Il : Latus rectum is the shortest

focal chord of the parabola


https://dl.doubtnut.com/l/_uC6pBoyUebQE
https://dl.doubtnut.com/l/_1lxvIPqCIfGM

A. Statement - | is true Statement - Il is true

and
Statement - Il is a correct explantion for
Statement - |.

B. Statement - | is true, Statement - Il is
true but
Statement - Il is not a correct

explanation of Statement - 1.

C.Statement - | is true , Statement - Il is

false.


https://dl.doubtnut.com/l/_1lxvIPqCIfGM

D. Statement - | false , Statement - Il is true.

Answer: A

o Watch Video Solution

1. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of

directrix and the coordinates of the ends of


https://dl.doubtnut.com/l/_1lxvIPqCIfGM
https://dl.doubtnut.com/l/_4gKMNzhONGms

latus rectum of the following parabola :

r? = — 12y

° Watch Video Solution

2. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of
directrix and the coordinates of the ends of

latus rectum of the following parabola :

5z = 16y

° Watch Video Solution



https://dl.doubtnut.com/l/_4gKMNzhONGms
https://dl.doubtnut.com/l/_1NEGdleiwejA
https://dl.doubtnut.com/l/_2SEIza845Jnc

3. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of
directrix and the coordinates of the ends of

latus rectum of the following parabola:

3y’ = — 4z

o Watch Video Solution

4. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of

directrix and the coordinates of the ends of


https://dl.doubtnut.com/l/_2SEIza845Jnc
https://dl.doubtnut.com/l/_xRcyE9v7MzCs

latus rectum of the following parabola :

(y+3)° =2(z +2)

o Watch Video Solution

5. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of
directrix and the coordinates of the ends of

latus rectum of the following parabola :

4z —2)° = —5(y+3)

o Watch Video Solution



https://dl.doubtnut.com/l/_xRcyE9v7MzCs
https://dl.doubtnut.com/l/_biamUTktdlSp
https://dl.doubtnut.com/l/_0ViIjqm3xqgW

6. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of
directrix and the coordinates of the ends of

latus rectum of the following parabola:

y* = 6(z + y)

o Watch Video Solution

7. Find the axis, coordinates of vertex and
focus, length of latus rectum, equation of

directrix and the coordinates of the ends of


https://dl.doubtnut.com/l/_0ViIjqm3xqgW
https://dl.doubtnut.com/l/_pHP8sC3vM55F

latus rectum of the following parabola :

Y —dr —2y—T7=0

° Watch Video Solution

8. Find the equation of the parabola whose
vertex is at (2,-3) , axis is parallel to x - axis and

length of latus rectum is 12..

° Watch Video Solution



https://dl.doubtnut.com/l/_pHP8sC3vM55F
https://dl.doubtnut.com/l/_NbGnJIRdsIo1

9. The coordinates of the vertex and focus of a
parabola are (1,2) and (-1,2) respectively : find

its equation.

o Watch Video Solution

10. Show that the equation of the parabola
whose vertex is (2,3) and focus is (2, -1) is

r? — dx + 16y = 44.

o Watch Video Solution



https://dl.doubtnut.com/l/_wXB60n5gmtkv
https://dl.doubtnut.com/l/_aTmNjY2LRDJJ
https://dl.doubtnut.com/l/_waJyAYj4U4Ig

1. show that the equation of the parabola
whose vertex and focus are on the x -axis at
distances a and a' from the origin respectively

isy? = 4(a’ — a)(z — a)

° Watch Video Solution

12. Find the equation of the parabola whose
vertex is the point (-2,3) and directrix is the

linex+7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_waJyAYj4U4Ig
https://dl.doubtnut.com/l/_THsqvGe8veFN

13. Find the equation of the parabola whose
vertexi is the point (1,-2) and the eqgation of

directrixisy+5=0.

o Watch Video Solution

14. Find the equatio of the parabola whose
focus is at the origin and the equation of

directrixis x+y=1.

o Watch Video Solution



https://dl.doubtnut.com/l/_kDtVrkFzE8zt
https://dl.doubtnut.com/l/_0QVvDp1IPeUn
https://dl.doubtnut.com/l/_75CflKrcLF8w

15. Find the equation of the parabola whose

focus is (2,1) and whose directrix is 3x-y+1=0

o Watch Video Solution

16. The equation of the directrix of a parabola
is x =y and the coordinates of its focus ar (4,0)

. Find the equation of the parabola.

o Watch Video Solution



https://dl.doubtnut.com/l/_75CflKrcLF8w
https://dl.doubtnut.com/l/_hO49QQt4GZsL
https://dl.doubtnut.com/l/_ny8hLPZ3nbYB

17. Find the coordinates of vartex and the
length of latus rectum of the parabola whose

focus is (0,0) and the directrix is the line 2 x +

y =1

o Watch Video Solution

18. A point moves in such a way that its
ditance from the point (2,5) is equal to its
distace from the line 2x + 4y = 3 . Find the
equation of its path . What is the name of the

curve ?

| = |


https://dl.doubtnut.com/l/_ny8hLPZ3nbYB
https://dl.doubtnut.com/l/_HHKEuGxFy76c

I &9 Watch Video Solution I

19. The coordinates of a moving point P are
(2t2 + 4, 4t + 6) , show that the locus of P is

a parabola.

° Watch Video Solution

20.1If 8 is a variable parameter , show that the

equations
1 2
T = 2(3— cosec’d),y = 2+ cot 6

represent the equation of a parabola. Find the


https://dl.doubtnut.com/l/_HHKEuGxFy76c
https://dl.doubtnut.com/l/_PZK3hiH8eTHI
https://dl.doubtnut.com/l/_2F1FpYWu8Pod

coordinates of vertex, focus and the length of

latus rectum of the parabola.

° Watch Video Solution

21. Find the equation of the circle, one of
whose diameters is the latus rectum of
y? = 4az . Show that this circle goes through
the common point of the axis and the directrix

of the parabola.

° Watch Video Solution



https://dl.doubtnut.com/l/_2F1FpYWu8Pod
https://dl.doubtnut.com/l/_6rym39f4mejA
https://dl.doubtnut.com/l/_MImc3d7Mu2y6

22. Show that the locus of the middle points of
chords of the parabola y? = 4az passing

through the vertex is the parabola y* = 2az

° Watch Video Solution

23. Find the locus of middle points of a family

of focal chords of the parabola y* = 4ax

o Watch Video Solution



https://dl.doubtnut.com/l/_MImc3d7Mu2y6
https://dl.doubtnut.com/l/_12FjOaGN0Wrf

24. PN is any ordinate of the parabola
y®> = 4daz , the point M divides PN in the ratio

m: n . Find the locus of M .

o Watch Video Solution

25. Prove that the lines joining the ends of
latus rectum of the parabola y* = 4az with
the point of intersection of its axis and

directrix are at right angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_BQ1Vzlfq6POj
https://dl.doubtnut.com/l/_0f3d04IPskrh

26. PQ is a chord of the parabola y* = 4azx .
The ordinate of P is twice that of Q . Prove that
the locus of the mid - point of PQ is

5y° = 18ax

o Watch Video Solution

27. The coordinates of the two ends of latus
rectum of a parabola are (8,1) and (-4,1) , find

the equation of the parabola.

o Watch Video Solution



https://dl.doubtnut.com/l/_0f3d04IPskrh
https://dl.doubtnut.com/l/_GgYUAfWMWPLB
https://dl.doubtnut.com/l/_taENvPtDbBkP

28. Find the equation of the parabola whose

vertex is (-2,2) and focus is (-6,-6).

° Watch Video Solution

29. The directrix of a parabolais x+y+4 =0
and vertix is the point (-1,-1) . Find (i) the
position of focus and (ii) the equation of the

parabola.

o Watch Video Solution



https://dl.doubtnut.com/l/_taENvPtDbBkP
https://dl.doubtnut.com/l/_RDj1rH3Btmdf
https://dl.doubtnut.com/l/_B0awA9OcdHSB

30. The axis of a parabola is parallel to x -axis
and it passes through the points (2,0) ,(1,-1)

and (6, -2) , find its equation .

o Watch Video Solution

31. A parabola passes through the points (0.0)
(2,2) and (-2,-6) and its asix ia parallel to y-axis .

Find its equation .

o Watch Video Solution



https://dl.doubtnut.com/l/_B0awA9OcdHSB
https://dl.doubtnut.com/l/_iuSeaI8QedF8
https://dl.doubtnut.com/l/_GE0qjx8kODIL

32. If the extremities of a focal chord of the
parabola y? = 4axz be (at%, 2at1) and

(at%, 2at2) ,prove that t1t = — 1

o Watch Video Solution

33. If (at2,2at) be the coordinates of an
extremity of a focal chord of the parabola

y? = 4az , then show that the length of the

1 2
chord is a(t+ ?> .

o Watch Video Solution



https://dl.doubtnut.com/l/_GLFjNLyp5j51
https://dl.doubtnut.com/l/_TYLhoDt3mWtx

34.Show that the equation of the chord of the
parabola y®? = 4ax through the points
(z1,y1) and (z2, y2) on it is

(y—y)(y—12) =y° — 4az

° Watch Video Solution

35. Show that the product of the ordinates of
the ends of a focal chord of the parabola

y? = 4daz is constant .

l o Watch Video Solution


https://dl.doubtnut.com/l/_TYLhoDt3mWtx
https://dl.doubtnut.com/l/_pWsS2HnZL8Bl
https://dl.doubtnut.com/l/_DDyCNKZeokNo

36. If a straight line pasing through the focus
of the parabola y? = 4ax intersects the
parabola at the points (z1,y1) and (2, ¥2)

then prove that y1y2 + 4122 = 0.

o Watch Video Solution

37. Find the equation of the circle, passing
through the origin and the foci of the

parabolas y? = 8z and % = 24y.



https://dl.doubtnut.com/l/_DDyCNKZeokNo
https://dl.doubtnut.com/l/_oVbsg2HfmEBK
https://dl.doubtnut.com/l/_vxDlOcAFRHF4

o Watch Video Solution

38. Find the equation of the circle on SC as
diameter, where S is the focus of y* = 12z
and C Is the centre of
z® +y* — 18z — 16y + 45 = 0. Also find the
length of the chord of the circle lying along

the x - axis

° Watch Video Solution



https://dl.doubtnut.com/l/_vxDlOcAFRHF4
https://dl.doubtnut.com/l/_7oWnyNHfZY81

39. Q is any point on the parabola y? = dax
,ON is the ordinate of Q and P is the mid-point
of QN ,. Prove that the locus of p is a parabola
whose latus rectum is one -fourth that of the

given parabola.

o Watch Video Solution

40. Find the equation of the circle drawn on

the line-segment joining the foci of the two


https://dl.doubtnut.com/l/_ZG82H4lDq18Y
https://dl.doubtnut.com/l/_uKirCHcEK0Dr

parabolas z* = 4ay and y® = 4a(x — a) as

diameter.

° Watch Video Solution

41. PQ is a double ordinate of the parabola
y? = 4az find the equation to the locus of its

point of trisection .

° Watch Video Solution



https://dl.doubtnut.com/l/_uKirCHcEK0Dr
https://dl.doubtnut.com/l/_Fe5fEIuFVRp6

42. Show that the circle described on a focal
chord of a parabola as diameter touches its

directrix .

o Watch Video Solution

43. Prove that the sum of the reciprocals of
the segments of any focal chord of a parabola

iIs constant .

o Watch Video Solution



https://dl.doubtnut.com/l/_ZrvLxmpKejVA
https://dl.doubtnut.com/l/_rVxwlh1xXOY0
https://dl.doubtnut.com/l/_Ej1I9RAJJOb2

44.The length of latus rectum of a parabola is
16 unit . The distance of a point P on the
parabola from its axis is 12 unit . Find the

distance of P from the focus of the parabola.

o Watch Video Solution

45. Prove that the length of any chord of the
parabola y? = 4axz passing through the
vertex and making an angle @ with the positive

direction of the x-axic is 4a cos ecf cot 6

o Watch Video Solution



https://dl.doubtnut.com/l/_Ej1I9RAJJOb2
https://dl.doubtnut.com/l/_Wd19bgcCFvM8

46. If a £ 0 and the line 2bx + 2cy + 4d = 0 is

passing through the points of intersection of

2

parabolas y? = 4az and z? = 4ay , then

prove that d2 = a%(2b + 3¢)°.

o Watch Video Solution

47. Find the equation of the parabola which
has its axis along the x -axis and passes

through the points (3,2) and (-2,-1) .

| = 1


https://dl.doubtnut.com/l/_Wd19bgcCFvM8
https://dl.doubtnut.com/l/_n0ucQ9Ggmj2G
https://dl.doubtnut.com/l/_jUcBw8xp9tDv

I &9 Watch Video Solution I

48. A chord is drawn through the vertex of the
parabola y* = 4axz making an angle 8 with its

axis . Find the length of the chord .

o Watch Video Solution



https://dl.doubtnut.com/l/_jUcBw8xp9tDv
https://dl.doubtnut.com/l/_4JYo4nfWhuZn

